EE 340(04) Quiz 5

Name; )

LD. Number: K g >/

A uniform plane wave is normally incident from glass =225,
boundary is located at ¥ =0 (see figure). The incident electric field is given by:

E, =3 6c05(2x10% —y) ¥V /m

Develop an expression for the average Poynting's vector in air.

er

oy
Air o
. L - L
/"" - 72- / = / -5 = ore. }
' L
72-,—] } /"‘J
=
s Pl g
7—P
2
= 7 Cxir cos (X0t - L)
tf = A
o —P ' #J/éz‘y
£ a7
s 0 . .
> ==z ?fL 5 ﬁ‘z“/
el | e
— T #LQCGZ
Bt 2 e (E < H . &= by

4. =1) onto air. The glass/air



